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Tnpsc group I / ii preliminary  
WEEKly TEST 4 OF February, 24 

 

1. Consider the following statements  
1. Big Bang Theory is also called expanding Universe hypothesis 
2. Edwin Hubble provided the evidence that universe is expanding. 
a. 1 alone is correct  b. 2 alone is correct  c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfisf; fUJf. 
1. ngUntbg;Gf; nfhs;if tphptilAk; gpugQ;rk; Nfhl;ghL vd;Wk; 

miof;fg;gLfpwJ. 
2. vl;tpd; `g;gps; gpugQ;rk; tphptilfpwJ vd;gjw;fhd Mjhuq;fis 

toq;fpdhu;. 
a. 1 kl;Lk; rhp   b. 2 kl;Lk; rhp   c. ,uz;Lk; rhp  
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 

2. Choose incorrect pair 
a. Spiral Galaxy  - Milky way 
b. Elliptical Galaxy - Messier 89 
c. Irregular Galaxy - Magellanic cloud 
d. Elliptical Galaxy - Andromeda 
e. Answer not known 
jtwhd           ,iziaj; Njh;e;njLf;f. 
a. RUs; mz;lk; - ghy;ntsp 
b. ePs;tl;l mz;lk; - nk];]pah; 89 
c. xOq;fw;w mz;lk; - Nknfy;ydpf; Nkfk; 
d. ePs;tl;l mz;lk; - Mz;l;NuhNklh 
e. tpil njhpatpy;iy 

 

3. Consider the following statements 
1. Ursa major is a star seen in northern hemisphere. 
2. Ursa major means Great Bear in Latin 
a. 1 alone is correct  b. 2 alone is correct c. Both are correct  
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfisf; fUJf: 
1. ch;rh Nk[h; vd;gJ tlf;F miuf;Nfhsj;jpy; fhzg;gLk; xU el;rj;jpuk; 

MFk;. 
2. ,yj;jPd; nkhopapy; ch;rh Nk[h; vd;gjd; nghUs; ngUq;fub vd;gjhFk;. 
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a. 1 kl;Lk; rhp   b. 2 kl;Lk; rhp   c. ,uz;Lk; rhp  
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 

4. Which of the following are the planets with no satellites? 
a. Mercury and Venus  b. Mercury and Mars 
c. Uranus and Venus   d. Venus and Pluto 
e. Answer not known 
gpd;tUtdtw;Ws; Jizf;Nfhs;fs; ,y;yhj fpufq;fs; ahit? 
a. Gjd; kw;Wk; nts;sp  b. Gjd; kw;Wk; nrt;tha; 
c. ANud]; kw;Wk; nts;sp  d. nts;sp kw;Wk; g;Sl;Nlh 
e. tpil njhpatpy;iy 

 

5. Consider the following 
Assertion: Venus is hotter than Mercury 
Reason: Mercury has an atmosphere which is thicker and almost  
entirely made of CO2  
a. Both A and R are correct and R explains A. 
b. Both A and R are correct and R does not explain A. 
c. A is correct, R is incorrect 
d. A is wrong, R is correct 
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W: nts;sp fpufk; Gjid tpl ntg;gkhdJ. 
fhuzk;: Gjd; fpufk; jbkdhd Kw;wpYk; CO2My; Md xU 
tspkz;lyj;ijf; nfhz;Ls;sJ. 
a. A kw;Wk; R ,uz;Lk; rhp> kw;Wk; R MdJ A -I tpsf;FfpwJ.         
b. A kw;Wk; R ,uz;Lk; rhp> Mdhy; R MdJ A-I tpsf;ftpy;iy 
c. A rhp> R jtW 
d. A jtW> R rhp 
e. tpil njhpatpy;iy 

 

6. A planet should possess the following qualities. 
1. It should orbit around the sun. 
2. It should not be a satellite of any planet. 
3. Any other celestial body should not cross in its orbit. 
a. 1, 2 are correct  b. 2, 3 are correct  c. 1, 3 are correct 
d. All are correct  e. Answer not known 
xU Nfhs; vd;gJ gpd;tUk; Fzq;fisf; nfhz;bUf;f Ntz;Lk;. 
1. ,J #upaidr; Rw;wp tuNtz;Lk;. 
2. ,J ve;jnthU Nfhspd; Jizf;Nfhshf ,Uf;ff; $lhJ. 
3. NtW ve;j thd; nghUSk; mjd; Rw;Wg;ghijiaf; FWf;fplf; $lhJ. 
a. 1> 2 rhp    b. 2> 3 rhp    c. 1> 3 rhp   
d. midj;Jk; rhp  e. tpil njhpatpy;iy 
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7. First Indian Woman to win two gold in single Asian Para Games_________ 
a. Thulasimathi   b. Sheetal Devi   c. Mandeep Kaur 
d. Lakshmi   e. Answer not known 
xNu Mrpa ghuh tpisahl;Lg; Nghl;bapy; ,uz;L jq;fk; ntd;w Kjy; 
,e;jpag; ngz; __________ 
a. Jsrpkjp   b. rPj;jy; Njtp   c. ke;jPg; nfsh; 
d. yl;Rkp    e. tpil njhpatpy;;iy 

 

8. Which of the following planets have backwards rotation? 
a. Uranus and Jupiter    b. Jupiter and Saturn 
c. Venus and Uranus    d. Venus and Mercury 
e. Answer not known 
gpd;tUk; ve;jf; Nfhs;fs; gpd;Ndhf;fpa Row;rpiaf; nfhz;bUf;Fk;? 
a. ANud]; kw;Wk; tpahod;   b. tpahod; kw;Wk; rdp 
c. nts;sp kw;Wk; ANud];   d. nts;sp kw;Wk; Gjd; 
e. tpil njhpatpy;iy 

 

9. The earth is a unique planet because of 
1. Its motions   2. Atmosphere with oxygen 
3. Presence of water  4. Distance from sun 
a. 1, 2, 3 are correct  b. 2, 3 are correct c. 2, 3, 4 are correct  
d. All are correct  e. Answer not known 
G+kp xU jdpj;Jtkhd Nfhs;> Vndd;why;  
1. mjd; ,af;fk;  2. Mf;]p[Dld; $ba tspkz;lyk; 
3. ePhpd; ,Ug;G   4. #hpadplkpUe;J mjd; njhiyT 
a. 1> 2> 3 rhp   b. 2> 3 rhp    c. 2> 3> 4 rhp  
d. midj;Jk; rhp  e. tpil njhpatpy;iy 

 

10. Consider the following 
Assertion (A): Mars is described as Red Planet. 
Reason (R): Iron oxide is present on the surface of Mars 
a. Both A and R are correct and R explains A. 
b. Both A and R are correct and R does not explain A. 
c. A is correct, R is wrong 
d. A is wrong, R is correct 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A):  nrt;tha; fpufk; rptg;Gf;Nfhs; vd;W mwpag;gLfpwJ. 
fhuzk; (R):  nrt;tha; fpufj;jpd; gug;gpy; ,Uk;G Mf;i]L  
fhzg;gLfpwJ. 
a. A kw;Wk; R ,uz;Lk; rhp> kw;Wk; R MdJ A -I tpsf;FfpwJ.         
b. A kw;Wk; R ,uz;Lk; rhp> Mdhy; R MdJ A-I tpsf;ftpy;iy 
c. A rhp> R jtW 



 

4 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

d. A jtW> R rhp 
e. tpil njhpatpy;iy 

 

11. Ganymede is the natural satellite of ____ 
a. Jupiter   b. Uranus    c. Saturn   
d. Neptune  e. Answer not known 
fdpkPL ____ d;  ,aw;ifj; Jizf;Nfhs; MFk;. 
a. tpahod;   b. ANud];   c. rdp   
d. neg;bA+d;  e. tpil njhpatpy;iy 

 

12. Which Planet may float on water? 
a. Jupiter   b. Uranus     c. Neptune    
d. Saturn   e. Answer not known 
ve;jf; fpufk; jz;zPhpy; kpjf;ff;$Lk;? 
a. tpahod;   b. ANud];   c. neg;bA+d;  
d. rdp   e. tpil njhpatpy;iy 

 

13. Assertion: The observer on the earth could see only one side of the moon. 
Reason: Moon takes 27 days, 7 hours and 43 Minutes for both its  
rotation and revolution around the earth. 
a. Both A and R are correct and R explains A. 
b. Both A and R are correct and R does not explain A. 
c. A is correct, R is incorrect 
d. A is wrong, R is correct 
e. Answer not known 
$w;W (A): GtpapypUe;J ghh;g;gth; epytpd; xU gFjpia kl;LNk  
ghh;f;f KbAk;. 
fhuzk; (R): re;jpud; jd;idj;jhNd Rw;Wtjw;Fk; Gtpiar; Rw;wp  
tUtw;Fk; 27 ehl;fs; 7 kzp Neuk; 43 epkplq;fs; vLj;Jf; nfhs;fpwJ. 
a. A kw;Wk; R ,uz;Lk; rhp> kw;Wk; R MdJ A -I tpsf;FfpwJ.         
b. A kw;Wk; R ,uz;Lk; rhp> Mdhy; R MdJ A-I tpsf;ftpy;iy 
c. A rhp> R jtW  
d. A jtW> R rhp 
e. tpil njhpatpy;iy 

 

14. According to Valluvar what signifies relationship? 
a. people’s body  b. good characters  c. good education 
d. good friendship   e. answer not known 
vJ xj;jpUj;jy; xg;ghFk; vd;W ts;Sth; $Wfpwhh;? 
a. kf;fspd; clk;G  b. epiwe;j gz;Gfs;   
c. xspnghUe;jpa fy;tp d. Nkd;ik nghUe;jpa el;G  
e. tpil njhpatpy;iy 
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15. In  a  certain  code  language  'STEAMER'  is written as 'TUFBNFS'. How 
will 'HOUSE' be written in that code ?  
'STEAMER' vd;gJ ''TUFBNFS' vd khw;wg;gl;lhy; 'HOUSE'  vd;gJ 
vt;thW khWk;? 
a. IPVUF         b. IPUTF    c. IPVTF                 
d. IPVSF   e. Answer not known 

  

16. Choose incorrect pair regarding national games 
i. 36th – Goa  ii. 37th – Gujarat 
iii. 35th – Kerala  iv. 38th – Uttarakhand 
a. i, ii     b. iii, iv    c. i, ii, iv 
d. All of these   e. Answer not known 
Njrpa tpisahl;L njhlh;ghd jtwhd ,iziaf; fhz;f 
i. 36tJ – Nfhth  ii. 37tJ – F[uhj; 
iii. 35tJ – Nfush  iv. 38tJ – cj;juhfz;l; 
a. i, ii     b. iii, iv    c. i, ii, iv 
d. ,it midj;Jk;  e. tpil njhpatpyiy 

 

17. Choose the correct pair 
1. March 21 - Spring equinox 
2. September 23 - Autumnal equinox 
3. June 21  - Summer solstice 
4. December 22 - Winter solstice 
a. 1, 3   b. 2, 4    c. 1, 4    
d. 1, 2, 3, 4   e. Answer not known 
rhpahd ,iziaj; Njh;e;njLf;f 
1. khh;r; 21  - tre;j fhy rkehs; 
2. nrg;lk;gh; 23 - ,iyAjph;fhy rkehs; 
3. [_d; 21  - Nfhilf;fhy ePz;l gfy; ehs; 
4. brk;gh; 22 - Fsph;fhy ePz;l ,uT ehs; 
a. 1, 3   b. 2, 4    c. 1, 4    
d. 1, 2, 3,4   e. tpil njhpatpy;iy 

 

18. Which of the following are the factors that have been contributed to the 
rise of disaster risks on recent years? 
1. Population Growth   
2. Environmental degradation 
3. Unplanned Urbanization  
4. Poverty   
5. Competition for scarce resources  
6. Pressure from development within high risk zones. 
a. 1, 2, 3, 4    b. 2, 3, 5, 6    c. 1, 2, 3, 5   
d. All the above   e. Answer not known 
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gpd;tUk; ve;j fhuzpfshy; rkPg fhyj;jpy; Nghplh; mghaq;fs; mjpfhpj;J 
tUfpd;wd? 
1. kf;fs; njhif tsh;r;rp  2. Rw;Wg;Gw #oy; rPh;NfL 
3. jpl;lkplhj efukakhjy;  4. tWik 
5. gw;whf;FiwAs;s tsq;fSf;fhf Vw;gLk; gpur;rid kw;Wk; Nghl;b 
6. mjpf mghaKs;s gFjpfspy; Vw;gLk; tsh;r;rpfspd; mOj;jk;. 
a. 1, 2, 3, 4    b. 2, 3, 5, 6    c. 1, 2, 3, 5   
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 

19. Which of the following are not the Public awareness for disaster risk 
reduction? 
1. Campaigns    2. Participatory learning  
3. Early Warning Systems  4. Land Use Planning 
a. 3, 4 only   b. 1, 2, 3 only   c. 2, 3, 4 only  
d. 2, 4 only  e. Answer not known 
gpd;tUtdtw;Ws; vit Nghplh; mghaf; Fiwg;G tpopg;Gzh;T fpilahJ? 
1. gpur;rhuk;    2. gq;Nfw;W fw;wy;  
3. Kd;ndr;rhpf;if ikaq;fs; 4. epyg;gad; jpl;lkply; 
a. 3, 4 kl;Lk;  b. 1, 2, 3 kl;Lk;   c. 2, 3, 4 kl;Lk;  
d. 2, 4 kl;Lk;  e. tpil njhpatpy;iy 

 

20. When was the National Flood control program was launched in India? 
a. 1951   b. 1952    c. 1953   
d. 1954   e. Answer not known 
ve;j Mz;L Njrpa nts;sg;ngUf;F jLg;G eltbf;if njhlq;fg;gl;lJ? 
a. 1951   b. 1952    c. 1953   
d. 1954   e. tpil njhpatpy;iy 

 

21. Find out the Incorrect pair. 
a. Flood prone areas in India     - 71% 
b. Cyclone affected districts in TN    - 11 
c. Ratio of Cyclones of Bay of Bengal to Arabian sea - 4 : 1 
d. Cyclonic storm wind speed - Between 65 km/hr & 117 km/hr                                                           
e. Answer not known 
jtwhd ,izia Njh;e;njLf;fTk;. 
a. ,e;jpahtpy; Gay; ghjpg;Gg; gFjp      - 71% 
b. jkpo;ehl;by; Gayhy; ghjpg;gilAk; flNyhu khtl;lq;fs;  - 11 
c. tq;fhs tphpFlh & mugpf; flypy; cUthFk; Gaypd; tpfpjk; - 4 : 1 
d. Gaypd; NghJ tPRk; fhw;wpd; Ntfk; - 65fpkP Kjy; 117fpkP tiu 
e. tpil njhpatpy;iy 
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22. Assertion (A) : India is one of the most flood prone countries in the world. 
Reason (R) : Flood lie in the very nature of natural ecological systems in 
India like the monsoon, the highly silted river systems and the steep highly 
erodible mountains. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true but (R) is not the correct explanation of (A) 
c. (A) is true, (R) is false. 
d. (A) is false, (R) is true.  
e. Answer not known 
$w;W (A) : cyfpy; mjpf nts;sg;ngUf;Fg; ghjpg;Gf;Fs;shFk; ehLfspy; 
,e;jpahTk; xd;W. 
fhuzk; (R): ,aw;ifr; #oy;> gUtfhw;W> mjpf tz;ly; gbTfs; nfhz;l 
Mw;wpd; mikg;G kw;Wk; ,kakiyj; njhlh; Nghd;w nrq;Fj;jhd 
rpijtilaf; $ba kiyfshy; ,e;jpahtpy; nts;sg;ngUf;F Vw;gLfpwJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R)> (A) tpw;fhd rhpahd 

tpsf;fkhFk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R)> (A) tpw;fhd rhpahd 

tpsf;fky;y. 
c. (A) rhp> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rhp 
e. tpil njhpatpy;iy 

 
23. Choose correct pair regarding Asian Games 2023 medal winners 

i. Praveen Chitravel – Triple Jump – Bronze 
ii. Annu Rani – Javelin throw – Gold 
iii. Parul Chaudary – 5000 m – Gold 
iv. Ancy Sojan – Long Jump – Silver 
a. i, ii    b. ii, iv    c. i, ii, iv 
d. All of these  e. Answer not known 
Mrpa tpisahl;Lg;Nghl;bfs;; 2023 gjf;fk; ntd;wth;fs; njhlh;ghd rhpahd 
,iziaf; fhz;f 
i. gputPd; rpj;jpuNty; - l;hpgps; [k;g; - ntz;fyk; 
ii. md;D uhzp – <l;b vwpjy; – jq;fk; 
iii. gUs; nrsj;hp – 5000 kP – jq;fk; 
iv. md;rp Nrh[d; - ePsk; jhz;Ljy; - nts;sp 
a. i, ii    b. ii, iv    c. i, ii, iv 
d. ,it midj;Jk; d. tpil njhpatpy;iy 

 
24. Find out the correct statements. 

1. A landslide is defined as the movement of a mass of rock debris down a 
slope. 

2. Landslides are caused by the direct influence of gravity. 
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a. 1 only  b. 2 only    c. Both 1 & 2 are correct  
d. None  e. Answer not known 
rhpahd $w;iw Njh;e;njL. 
1. caukhd rhpT kpFe;j gFjpapypUe;J rpije;j ghiwfs; efh;tij 

epyr;rhpT vd;fpNwhk;. 
2. Gtp <h;g;G tpirapd; Neub jhf;fj;jpdhy; epyr;rhpT Vw;gLfpd;wJ. 
a. 1 kl;Lk;  b. 2 kl;Lk;      c. 1 kw;Wk; 2 rhp   
d. vJTkpy;iy e. tpil njhpatpy;iy 

 

25. Assertion (A) : Drought is a period of time during which a part of the land 
has shortage of rain, causing severe damage to the soil, crops, animals & 
people. 
Reason    (R) : The primary cause is deficiency of rainfall such as its timing, 
distribution and intensity. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true but (R) is not the correct explanation of (A) 
c. (A) is true, (R) is false. 
d. (A) is false, (R) is true.  
e. Answer not known 
$w;W (A) : xU Fwpg;gpl;l fhyj;jpw;F epyj;jpd; xU gFjpf;F kio   
          gw;whf;Fiwahf cs;sij twl;rp vd;fpNwhk;. 
fhuzk; (R): twl;rpf;F Kjd;ik fhuzk; fhy msT> guty; kw;Wk; 
kioapd; jPtpuk; rhh;e;j kio gw;whf;FiwahFk;. 
a. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R)> (A) tpw;fhd rhpahd 

tpsf;fkhFk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R)> (A) tpw;fhd rhpahd 

tpsf;fky;y. 
c. (A) rhp> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rhp 
e. tpil njhpatpy;iy 

 

26. What is the annual rainfall along the Western Coast and the Western 
Ghats, Khasi Hills and over most of the Brahmaputra Valley? 
a. > 1250 mm  b. > 1150 mm   c. > 2500 mm  
d. > 2250 mm  e. Answer not known 
vj;jid kp.kPl;lUf;F mjpfkhf Mz;L kiog;nghopthdJ Nkw;F flw;fiu> 
Nkw;F njhlh;r;rp kiy> fhrp Fd;Wfs; kw;Wk; gpuk;kGj;jpuh gs;sj;jhf;F 
Mfpa gFjpfspy; gjpthfpwJ? 
a. > 1250 kp.kPl;lh; b. > 1150 kp.kPl;lh;  c. > 2500 kp.kPl;lh;  
d. > 2250 kp.kPl;lh; e. tpil njhpatpy;iy 

 

27. Which of the following districts that were not affected by Cyclone? 
1. Trichy   2. Sivagangai  3. Thirunelveli  
4. Villupuram  5. Tiruvarur 
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a. 1, 3, 5 only  b. 2, 3 only    c. 1, 2 only   
d. 2, 3, 5 only  e. Answer not known 
gpd;tUk; ve;j khtl;lq;fs; Gayhy; ghjpg;gpw;Fs;shfhj khtl;lq;fs; vit? 
1. jpUr;rp   2. rptfq;if 3. jpUney;Ntyp 
4. tpOg;Guk;  5. jpUth&h; 
a. 1, 3, 5 kl;Lk;  b. 2, 3 kl;Lk;   c. 1, 2 kl;Lk;  
d. 2, 3, 5 kl;Lk;  e. tpil njhpatpy;iy 

 

28. Choose the correct statements about Drowning 
i. Drowning is the 4th leading cause of Unintentional injury death 

worldwide.  
ii. It accounts for 7% of all injury related deaths.  
iii. In Bangladesh, 17,000 children drown annually that’s 46 a day.  
a. i, ii, iii  b. i, iii c. ii, iii d. i, ii e. Answer not known 
ePhpy; %o;Fjy; Fwpj;j $w;Wfspy; rhpahdJ vJ?  
i. cyfstpy; ePhpy; %o;Fjy; vd;gJ vjph;ghuhj fhak; Vw;gl;L kuzk; 

Vw;gLtjpy; 4tJ Kf;fpa fhuzpahFk;. 
ii. fhak; Vw;gl;L kuzkiljypy; %o;Fjy; 7% MFk;. 
iii. tq;fhsNjrj;jpy; xU Mz;bw;F 17>000 Foe;ijfs; ePhpy; %o;fp 

,wf;fpd;wdh;.  
a. i, ii, iii  b. i, iii c. ii, iii d. i, ii e. tpil njhpatpy;iy 

 

29. Match the following 
A. xsp   1. Similar 
B. ghL   2. Suffer  
C. ,d;dh   3. Glory 
D. md;dhh;   4. Pride 

A B C D 
a. 3 4 2 1 
b. 2 3 4 1 
c. 4 3 2 1 
d. 3 2 4 1  e. Answer not known 
nghUj;Jf 
A. xsp   1. xj;jth; 
B. ghL   2. Jd;gk; 
C. ,d;dh   3. Gfo; 
D. md;dhh;  4. ngUik 

A B C D 
a. 3 4 2 1 
b. 2 3 4 1 
c. 4 3 2 1 
d. 3 2 4 1  e. tpil njhpatpy;iy 
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30. If L stands for +, M stands for -, N stands for ×, P stands for ÷, then 14 N 10 
L 42 P 2 M 8 =? 
L vd;gJ +, M vd;gJ -, N vd;gJ × kw;Wk; P vd;gJ  ÷ IAk; Fwpf;fpwJ 
vdpy;> 14 N 10 L 42 P 2 M 8 =? 
a. 153           b. 216     c. 248            d. 251  e. Answer not known 

 
31. Assertion (A): About 90 percent of drowning cases occurs in Fresh water. 

Reason (R): When it is inhaled into the lungs, it passes into the 
    bloodstream through osmosis. 

a. Both A and R are true and R is the correct explanation of A  
b. A is true but, R is false 
c. A is false but R is false  
d. Both A and R are true and R is not the correct explanation of A 
e. Answer not known 
$w;W (A) : Rkhh; 90% %o;Fjy; ed;dPhpy; jhd; eilngWfpwJ 
fhuzk; (R): ed;dPh; EiuaPuy;fSf;Fs; nry;Yk; nghOJ rt;T+L guty; 
Kiwapy; mJ ek; ,uj;j xl;lj;jpy; fyf;fpwJ.  
a. $w;W (A) & fhuzk; (R) ,uz;Lk; rhp> (A) Tf;F rhpahd fhuzk; (R) 

MFk;.  
b. (A) rhp Mdhy; (R) jtW  
c. (A) jtW Mdhy; (R) rhp  
d. (A) kw;Wk; (R) ,uz;Lk; rhp kw;Wk; (A)Tf;F rhpahd tpsf;fk; (R) 

my;y 
e. tpil njhpatpy;iy 

 

32. Which of the following statements about the Baba Gurgur is/are correct? 
i. It is a natural gas vent located in Iran.  
ii. It means ‘Father of Fire’. 
iii. It has been burning continuously for over 4000 years. 
iv. It was mentioned by Herodotus and Plutarch. 
a. i, ii, iv    b. ii, iv    c. ii, iii, iv   
d. all the above    e. Answer not known 
ghgh Fh;Fh; Fwpj;j $w;Wfspy; vJ / vit rhpahdJ. 
i. ,J <uhdpy; ,aw;if thAf; Fohapd; Jthuj;jpy; mike;Js;s 

neUg;ghFk; 
ii. neUg;gpd; je;ij vdg; nghUs;gLk;  
iii. ,e;neUg;G 4000 Mz;LfSf;Fk; Nkyhf njhlh;e;J vhpe;J 

nfhz;bUf;fpwJ.  
iv. ,e;neUg;igg; gw;wp n`NuhNlhl]; kw;Wk; G@lhh;f; MfpNahh; 

Fwpg;gpl;Ls;sdh;.  
a. i, ii, iv    b. ii, iv    c. ii, iii, iv   
d. ,it midj;Jk;   e. tpil njhpatpy;iy 
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33. Choose correct statement regarding Global Innovation Index (GII) 2023 
i. GII is released by World Bank 
ii. India is ranked 40th in 2023 
iii. India was 81st rank in 2015 
a. i, ii, iii  b. ii, iii c. ii alone d. i, iii e. Answer not known 
cyf Gj;jhf;ff; FwpaPL (GII) – 2023 Fwpj;j rhpahd $w;Wfis fz;lwpf 
i. GII cyf tq;fpahy; ntspaplg;gLfpwJ  
ii. 2023,y; ,e;jpah 40tJ ,lk;gpbj;Js;sJ 
iii. 2015,y; ,e;jpah 81tJ ,lk;gpbj;jJ 
a. i, ii, iii  b. ii, iii c. ii alone d. i, iii e. tpil njhpatpy;iy 

 
34. Consider the following statements: 

i. Explosions is the result of Shockwave.  
ii. Gas explosions occur when a flammable gas mixes with air. 
iii. Dust explosions occur when flammable solids, especially metals, in 

the form of fine powders are intensively mixed with air.  
a. i, ii, iii  b. i, ii c. i, iii d. ii, iii  e. Answer not known 
gpd;tUk; thf;fpaq;fis ftdpf;fTk;. 
i. njhopw;rhiy ntbg;Gfs; mjph;tiyfshy; cz;lhfpd;wd.  
ii. jPg;gw;wpf; nfhs;sf;$ba thA fhw;Wld; njhlh;G nfhs;Sk; NghJ 

thA ntbg;Gfs; Vw;gLfpd;wd.  
iii. vspjpy; jPg;gw;wf; $ba jplg;nghUl;fs; Kf;fpakhf cNyhfj;Jfs; 

fhw;Wld; fye;J vhpAk;NghJ J}rp ntbg;Gfs; Vw;gLfpd;wd.  
a. i, ii, iii  b. i, ii c. i, iii d. ii, iii   e. tpil njhpatpy;iy 

 
35. Which of the following statements is/are correct about Road accident? 

i. It is estimated that 1.34 million people are killed in the road accidents 
every year. 

ii. Road Accident is the 9th leading cause of death globally.  
a. i, ii  b. i only c. ii only d. none  e. Answer not known 
rhiy tpgj;J Fwpj;j $w;Wfspy; vJ / vit rhpahdJ?  
i. xt;nthU Mz;Lk; 1.34 kpy;ypad; kf;fs; rhiy tpgj;Jfspy; 

,wf;fpwhh;fs; vd;W fzf;fplg;gl;Ls;sJ. 
ii. rhiy tpgj;J cyfstpy; ,wg;Gf;fhd fhuzpfspy; 9tJ ,lj;jpy; 

cs;sJ 
a. i, ii   b. i kl;Lk; c. ii kl;Lk; d. vJTkpy;iy  e. tpil njhpatpy;iy 

 

36. Choose the correct statements about Bhopal Gas Disaster? 
i. It took place on December 3, 1984.  
ii. The factory’s name was Union Carbide. 
iii. The gas Methyl isocyanides was released. 
a. i, ii  b. ii, iii c. i, iii d. i, ii, iii  e. Answer not known 
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Nghghy; tp~;thA tpgj;J Fwpj;j $w;Wfspy; rhpahdJ vJ?  
i. ,J 1984> brk;gh; 3-y; eilngw;wJ.  
ii. ,e;j njhopw;rhiyapd; ngah; A+dpad; fhh;igL  
iii. ntspapl;l thA kPj;ijy; INrhiraidLfs;  
a. i, ii  b. ii, iii c. i, iii d. i, ii, iii  e. tpil njhpatpy;iy 

 

37. The toxic fumes produced by fire is  
a. Acrolein  b. Carbon Monoxide   c. Cyanides   
d. all the above  e. Answer not known 
neUg;ghy; cUthFk; er;R thAf;fshtd  
a. Mf;Nuhypd;   b. fhh;gd; Nkhdhf;i]L   c. raidl;   
d. midj;Jk;   e. tpil njhpatpy;iy 

 

38. The spreading speed of High fire is  
a. 20 m/sec   b. 50 m/sec   c. 70 m/sec  
d. 100 m/sec   e. Answer not known 
mjpf msTj; jPapd; Ntfk; __________. 
a. 20 kP / nehb    b. 50 kP / nehb   c. 70 kP / nehb  
d. 100 kP / nehb   e. tpil njhpatpy;iy 

 
39. Choose the correct statements of highlights of Tamilnadu Economy. 

i. Growth of SGDP in Tamilnadu has been among fastest in India since 
2005. 

ii. Tamilnadu ranks first among the states in terms of number of 
factories with 17%. 

iii. Tamilnadu ranks first on investment proposals filed by MSMEs. 
a. i, ii only    b. i, ii, and iii       c. i only   
d. None of the above  e. Answer not known 
jkpo;ehl;bd; rpwg;gpy; rhpahdij Njh;e;njL:  
i. 2005 Mk; Mz;bypUe;J ,e;jpa khepyq;fspy; jkpo;ehl;bd; SGDP 

tsh;r;rp tpiuthf cs;sJ 
ii. njhopw; rhiyfspd; vz;zpf;ifapy; 17% gq;fspg;Gld; jkpo;ehL 

Kjyplk; tfpf;fpwJ.  
iii. FWrpW kw;Wk; eLj;ju epWtdq;fSf;fhd KjyPl;Lj; jpl;lq;fspy; 

jkpofk; Kjyplk; tfpf;fpwJ.  
a. i, ii kl;Lk;    b. i, ii, kw;Wk; iii    c. i kl;Lk;   
d. ,it vJTkpy;iy  e. tpil njhpatpy;iy 

 
40. World Energy outlook report is released by _______ 

a. International Energy Agency  b. World Bank 
c. Indian Energy Agency   d. None of these 
e. Answer not known 
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cyf Mw;wy; fz;Nzhl;lk; mwpf;ifia ntspapLtJ ___________ 
a. rh;tNjr Mw;wy; Kfik   b. cyf tq;fp 
c. ,e;jpa Mw;wy; Kfik   d. ,it midj;Jk; 
e. tpil njhpatpy;iy 

 
41. Assertion (A) : Tamilnadu is not endowed with rich natural resources 

compared to other states. 
Reason (R) : It accounts for 3% of water sources, four percent of land area 
against six percent of population. 
a. Both Reason and Assertion are correct, Reason explains correct about 

the Assertion. 
b. Both Reason and Assertion are wrong. 
c. Assertion is correct, Reason is wrong. 
d. Both Reason and Assertion are correct, Reason does not explain about 

the Assertion. 
e. Answer not known 
gpd;tUtdtw;iw Muha;f.  
$w;W (A) : jkpo;ehl;bd; ,aw;if tsk; gpw khepyq;fSld; xg;gpLk; NghJ 
FiwthFk;.  
fhuzk; (R): kf;fs; njhifapy; 6% ,Ue;j NghjpYk;> ePh; tsj;jpy; 3% 
epygug;gstpy; 4% cs;sJ.  
a. $w;W kw;Wk; fhuzk; ,uz;Lk; rhp> fhuzk; $w;wpw;fhd rhpahd 

tpsf;fkhFk;. 
b. $w;W kw;Wk; fhuzk; ,uz;Lk; jtW. 
c. $w;W rhp> fhuzk; jtW 
d. $w;W kw;Wk; fhuzk; ,uz;Lk; rhp> fhuzk; $w;wpw;fhd rhpahd 

tpsf;fky;y. 
e. tpil njhpatpy;iy 

 
42. As per 2011 census/choose the correct statement. 

i. Tamilnadu stands sixth in population. 
ii. Tamilnadu’s population is higher than that of several racially distinct 

countries according to UN report. 
iii. Tamilnadu > UK > Italy > Srilanka. 
a. i only    b. i, ii only      c. i, ii and iii   
d. None of the above  e. Answer not known 
2011 kf;fs; njhif fzf;nfLg;gpd;gb  
i. jkpo;ehL kf;fs;njhifapy; MwhtJ ,lj;jpy; cs;sJ.  
ii. If;fpa ehLfs; mwpf;ifapd; gb Njrpa ,dkhf ,aq;f $ba 

ehLfspd; kf;fs; njhifia tpl jkpo;ehl;bd; kf;fs;njhif 
$Ljyhf cs;sJ  

iii. jkpo;ehL > If;fpa NguuR > ,;j;jhyp > ,yq;if  
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a. i kl;Lk;    b. i, ii kl;Lk;   c. i, ii kw;Wk; iii    
d. ,it vJTkpy;iy  e. tpil njhpatpy;iy 

 
43. Choose the incorrect statement about Tamilnadu Agriculture. 

i. Tamilnadu with seven agro climatic zones. 
ii. Tamilnadu ranks 1st in the producer of loose flowers. 
iii. Tamilnadu ranks 1st in the producer of fruits. 
a. i only   b. i, ii only    c. iii only    
d. ii only   e. Answer not known 
jkpo;ehl;bd; Ntshz;ik gw;wp jtwhd $w;iwj; Njh;;e;njL:  
i. jkpofj;jpy; VO Ntshz; fhyepiy kz;lyk; cs;sJ.  
ii. cjphp G+f;fs; cw;gj;jpapy; jkpofk; - Kjyplk;  
iii. goq;fs; cw;gj;jpapy; jkpofk; - Kjyplk;  
a.  i kl;Lk;   b. i, ii kl;Lk;    c. iii kl;Lk;    
d. ii kl;Lk;   e. tpil njhpatpy;iy 

 
44. Choose the correct statements about Tamilnadu – Ports. 

i. Chennai, Ennore and Tuticorin are major ports of Tamilnadu. 
ii. The intermediate Port – Tuticorin Port. 
iii. All the minor ports are managed by the Tamilnadu Maritime Board, 

Chennai Port. 
a. i, ii only    b. ii, iii only   c. i, iii  
d. i, ii and iii   e. Answer not known 
jkpo;ehl;bd; JiwKfq;fs; gw;wp rhpahdijf; Njh;e;njL:  
i. nrd;id> vz;Z}h;> J}j;Jf;Fb> Mfpait jkpo;ehl;bd; ngupa 

JiwKfq;fshFk;  
ii. J}j;Jf;Fb – eLj;ju JiwKfkhFk;.  
iii. midj;J rpwpa JiwKfq;fSk; - jkpo;ehL fly;rhh; ikaj;jhy; 

eph;tfpf;fg;gl;L tUfpwJ.  
a. i, ii kl;Lk;   b. ii, iii kl;Lk;    c. i, iii kl;Lk;  
d. i, ii kw;Wk; iii   e. tpil njhpatpy;iy 
 

45. In a row of trees, one tree is fifth from either end of the row. How many 
trees are there in the row? 
xU thpirapy; cs;s kuq;fspy; xU kukhdJ ,U Gwq;fspypUe;Jk; 
5tjhf ,Ue;jJ vdpy; mt;thpirapy; cs;s kuq;fspd; vz;zpf;if 
vt;tsT? 
a. 8     b. 9 c. 10  d. 11  e. Answer not known 

 
46. karumaththaal naaNudhal naaNunh thirunhudhal 

nallavar naaNup piRa 
In this Kural the term Nudhal means 
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a. eye  b. forehead    c. lips 
d. ears  e. answer not known 
fUkj;jhy; ehZjy; ehZe; jpUEjy;  
ey;yth; ehZg; gpw - vd;w Fwspy; tUk; "Ejy;" vd;w nrhy;;ypd; nghUs; 
vd;d?  
a. fz;   b. new;wp     c. cjL   
d. nrtp   e. tpil njhpatpy;iy 

 
47. Choose the correct statement about population Growth in Tamil Nadu. 

i. Districts with lower population - Perambalur, The Nilgris, Ariyalur 
and Theni. 

ii. Minimum density districts – The Nilgris, Thiruchirappalli. 
iii. District with Higher sex ratio – The Nilgris, Thanjavur, 

Nagapattinam. 
a. i only   b. ii only    c. ii and iii only   
d. i, ii and iii   e. Answer not known 
jkpo;ehl;bd; kf;fs; njhif tsh;r;rpapd; gb rhpahd $w;iwj; Njh;;e;njL:  
i. Fiwthd kf;fs; njhifAila khtl;lq;fs; nguk;gY}h;> ePyfphp> 

mhpaY}h;> Njdp.  
ii. Fiwthd mlh;j;jp cs;s khtl;lk; - ePyfphp> jpUr;rpuhg;gs;sp. 
iii. mjpf ghypd tpfpjk; nfhz;l khtl;lq;fs; - ePyfphp>  jQ;rhT+u;>  

ehfg;gl;bdk;.  
a. i kl;Lk;    b. ii kl;Lk;   c. ii kw;Wk; iii kl;Lk;  
d. i, ii kw;Wk; iii   e. tpil njhpatpy;iy 

 
48. Iron ore is found at 

a. Kanjamalai, Salem  b. Kardikuttam, Madurai  
c. Rasipuram, Namakkal d. Yercaud, Salem 
e. Answer not know 
,Uk;Gj;jhJ vq;F fhzg;gL;fpwJ? 
a. fQ;rkiy> Nryk;  b. fubf;Fl;lk;> kJiu  c. uhrpGuk;> ehkf;fy; 
d. Vw;fhL> Nryk;  e. tpil njhpatpy;iy 

 
49. Choose correct statement regarding M.S. Gill 

i. 11th Chief Election Commissioner of India 
ii. He succeeded T.N. Seshan as CEC of India 
iii. He conducted general elections to 12 and 13th Loksabha 
iv. Padma Vibushan Awardee – 2000 
a. i, iv   b. i, ii, iv    c. ii, iii, iv   
d. All of these  e. Answer not known 
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M.S. fpy; Fwpj;j rhpahd $w;Wfis fz;lwpf 
i. 11tJ ,e;jpa jiyik Njh;jy; Mizah;  
ii. ,th; b.vd;. Nr~Df;F gpwF ,e;jpa jiyik Njh;jy; Mizauhf 

gjtpNaw;wth; 
iii. ,th; kf;fsitapd; 12 kw;Wk; 13tJ nghJ Njh;jy;fis elj;jpdhh; 
iv. 2000 Mk; Mz;L gj;k tpg+~d; tpUJ ngw;wth; 
a. i, iv    b. i, ii, iv    c. ii, iii, iv 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
50. Consider the following statements. (2011 census) 

1. Tamil Nadu urban population is 48.4% 
2. Tamil Nadu accounts for 9.6% of total urbanities in India. 
Which of above are correct? 
a. 1 is correct   b. 2 is correct   c. Both are correct 
d. Both are wrong  e. Answer not know 
gpd;tUk; $w;Wf;fis Ma;f: (kf;fs;njhif fzf;nfLg;G 2011) 
1. jkpo;ehl;bd; efh;g;Gw kf;fs; njhif 48.4% MFk;.  
2. ,e;jpahtpd; nkhj;j efh;g;Gw thrpfspy; 9.6% Ngh; jkpo;ehl;by; cs;sdh;. 
Nkw;$wpatw;Ws; rhpahdit vit? 
a. 1, kl;Lk;    b. 2 kl;Lk;   c. 1 kw;Wk; 2 ,uz;Lk; 
d. 1 kw;Wk; 2 ,uz;Lky;y e. tpil njhpatpy;iy 

 

51. Which of the following is not correct? 
a. The IMR of Tamil Nadu is 17 
b. The MMR of Tamil Nadu is 99 
c. The life expectancy of Tamil Nadu is 70.6 
d. The literacy rate in Tamil Nadu is 80.33% 
e. Answer not know 
gpd;tUtdtw;Ws; jtwhdit vit? 
a. jkpo; ehl;bd; Foe;ij ,wg;G tpfpjk; 17  
b. jkpo;ehl;bd; kfg;NgW ,wg;G tpfpjk; 99 
c. jkpo;ehl;bd; tho;ehs; vjph;ghh;g;G fhyk; 70.6 Mz;Lfs; 
d. jkpo;ehl;bd; vOj;jwpT tpfpjk; 80.33% 
e. tpil njhpatpy;iy 

 

52. Tamil Nadu GSDP in 2016-17 stands at  
a. $227.8 billion   b. $207.8 billion  c. $247.8 billion 
d. $197.8 billion   e. Answer not know 
2016-17 Mk; Mz;bw;fhd jkpo; ehl;bd; nkhj;j khepy cs;ehl;L cw;gj;jp 
GSDP 
a. $227.8 gpy;ypad;  b. $207.8 gpy;ypad;  c. $247.8 gpy;ypad; 
d. $197.8 gpy;ypad;  e. tpil njhpatpy;iy 
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53. Choose correctly matched pair. 
1. Sankagiri – Coach building 
2. Karur – Lorry fleet operations 
3. Erode – Turmeric 
4. Tiruppur – Knitwear, ready made 
Which of above are correct? 
a. 1, 2, 3   b. 1, 3, 4    c. 2, 3, 4 
 d. 3, 4   e. Answer not know 
rhpahf nghUe;jpAs;s ,izfisf; fz;lwpf: 
1. rq;ffphp   - thfdg; Gidjy; 
2. f&h;   - yhhp fyj;njhFjp 
3. <NuhL   - kQ;rs; 
4. jpUg;G+h;   - gpd;dy; Mil> Maj;j Mil  
Nkw;$wpatw;Ws; rhpahdit vit? 
a. 1, 2, 3   b. 1, 3, 4    c. 2, 3, 4 
d. 3, 4   e. tpil njhpatpy;iy 

 
54. Which city is known as gateway of Tamil Nadu? 

a. Chennai   b. Sivakasi    c. Thoothukudi 
d. Kanyakumari e. Answer not know 
ve;j efuk; jkpo;ehl;bd; EioTthapy; vd;W miof;fg;gLfpwJ. 
a. nrd;id   b. rptfhrp    c. J}j;Jf;Fb 
d. fd;dpahFkhp  e. tpil njhpatpy;iy 

 
55. Consider the following statements. 

1. Coimbatore is known as Manchester of South India. 
2. Karur is known for cloth market in south India for both retail and 

wholesale ready-made. 
3. Salem is the major home for textile manufacturing. 
Which of the above are correct? 
a. 1 only   b. 1, 2     c. 1, 3 
d. 1, 2, 3   e. Answer not know 
gpd;tUk; $w;Wf;fis Ma;f: 
1. Nfhak;Gj;J}h; njd;dpe;jpahtpd; khd;nr];lh; vd;W miof;fg;gLfpwJ. 
2. f&h; njd;dpe;jpahtpd; nkhj;j kw;Wk; rpy;yiw Maj;j MilfSf;fhd 

Kf;fpa [Tsp re;ijahf cs;sJ. 
3. Nryk; [Tsp cw;gj;jpf;fhd Kf;fpa efukhFk;. 
Nkw;$wpatw;Ws; rhpahdit vit? 
a. 1 kl;Lk;   b. 1, 2     c. 1, 3 
d. 1, 2, 3   e. tpil njhpatpy;iy 
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56. Choose incorrect pair 
a. October 6 – World Cerebral Palsy Day 
b. October 7 – Javelin Day 
c. October 8 – World Dyslexia Day 
d. October 4 to 10 – World Space Week 
e. Answer not known 
jtwhd ,iziaf; fhz;f 
a. mf;Nlhgh; 6 – cyf ngU%is thjk; jpdk; 
b. mf;Nlhgh; 7 – <l;b vwpjy; jpdk; 
c. mf;Nlhgh; 8 – cyf fw;wy; FiwghL jpdk; 
d. mf;Nlhgh; 4 Kjy; 10 – cyf tpz;ntsp thuk; 
e. tpil njhpatpy;iy 
 

57. Every year, state government holds international leather fair in 
a. Vellore   b. Dindigul   c. Ambur 
d. Chennai  e. Answer not know 
xt;nthU Mz;Lk;> gd;dhl;L Njhy; nghUs; fz;fhl;rpia khepy muR 
vq;F elj;JfpwJ? 
a. NtY}h;   b. jpz;Lf;fy;   c. Mk;G+h; 
d. nrd;id   e. tpil njhpatpy;iy 

 
58. Which city is known as little Japan by Jawaharlal Nehru. 

a. Coimbatore  b. Sivakasi    c. Thoothukudi 
d. Chennai  e. Answer not know 
[t`h;yhy; NeU ve;j efuj;ij Fl;b [g;ghd; vd;W miof;fg;gl;lJ? 
a. Nfhak;Gj;J}h;  b. rptfhrp    c. J}j;Jf;Fb 
d. nrd;id   e. tpil njhpatpy;iy 

 
59. Who said that the “Foreign capital infinitely prefers situations where the 

upside potential is vast, if risks must be taken to get in”? 
a. Harry Dexter White  b. John Maynard Keynes 
c. Rudi Dorbush   d. Amartiyasen 
e. Answer not known 
“Nkk;gl;l Mw;wy; tsk; gue;j epiyapy; fhzg;gLk; nghOJ ,lu;fs; 
epu;tfpf;fg;gl;lhy; vz;zw;w mstpy; %y jdj;jpw;fhd #o;epiyfs; njupT 
nra;ag;gLfpd;wJ” ,ij $wpatu;? 
a. N`up nlf;];lu; nthapl;  b. [hd; Nkdhu;L fPd;];  
c. Ub ghu;G~;    d. mku;j;jpahnrd; 
e. tpil njhpatpy;iy 
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60.  

  
a. 33  b. 145 c. 135 d. 18  e. Answer not known 

 
61. Which of the following is/are incorrectly matched? 

Institution        Headquarters 
i. International Monetary Fund - Washington 
ii. World Trade Organization  - Geneva 
iii. World Bank    - Newyork 
a. ii only  b. iii only    c. i and iii   
d. none  e. Answer not known 
gpd;tUtdtw;Ws; jtwhfg; nghUe;jpaijj; Nju;e;njL. 
epWtdk;     jiyikafk; 
i. gd;dhl;L gzepjpak;  - th~pq;ld; 
ii. cyf tu;j;jf mikg;G - n[dpth 
iii. cyf tqfp   - epA+ahu;f; 
a. ii kl;Lk;  b. iii kl;Lk;    c. i kw;Wk; iii   
d. VJkpy;iy e. tpil njhpatpy;iy 

 
62. According to Thiruvalluvar what is the ornament of nobleman? 

a. The indolence of the mind in despicable acts 
b. Learning books to replenish knowledge 
c. The energy of knowing in advance what is going to happen in the future 
d. Telling others to understand the important message easily 
e. Answer not known 
rhd;Nwhh;f;F mzpfykhtJ ahJ vd;W jpUts;Sth; $Wfpwhh;?  
a. ,op njhopy;fspy; kde;nry;yhik  
b. mwpT epuk;Gtjw;Ff; fhuzkhd E}y;fis fw;wy;  
c. vjph;fhyj;jpy; epfog;Nghtij Kd;Nd vz;zp mwpaf;$ba Mw;wy;  
d. mhpa nra;jpia vspikahf gpwh;kdk; nfhs;sj; njspthff; $wf;$ba 

Mw;wy;  
e. tpil njhpatpy;iy 

 
63. Which of the following is not the objective of International Monetary 

Fund? 
a. To assist the member countries in the Balance of payments 

disequilibrium in long term. 



 

20 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

b. To solve the problem of international liquidity. 
c. To ensure exchange rate stability by curbing competitive exchange 

depreciations. 
d. To promote the flow of capital from the developed to developing 

nations. 
e. Answer not known 
gpd;tUtdtw;Ws; vJ gd;dhl;L gzepjpaj;jpd; Nehf;fkd;W? 
a. cWg;G ehLfSf;F ePz;lfhy may;ehl;Lr; nryhtzp rkkpd;ikia 

rkhspf;f cjTtJ. 
b. gd;dhl;L ePu;ik gpur;ridf;Fj; jPu;T fhz;gJ  
c. cWg;G ehLfs; Nghl;b Nghl;Lf;nfhz;L gz kjpg;gpwf;fk; nra;tij 

jLj;J ehzakhw;W tpfpjk; epiyahf ,Uf;fr; nra;jy;. 
d. tsu;e;j ehLfs; tsUk; ehLfspy; %yjdk; nra;tij vspjhf;FtJ. 

 
64. Match the following 

Organization  Evolution 
A. IDA   1. 1956 
B. ICSID   2. 1960 
C. IFC   3. 1958 
D. MIGA   4. 1966 
nghUj;Jf. 
epWtdk;   Njhw;wk; 
A. IDA   1. 1956 
B. ICSID   2. 1960 
C. IFC   3. 1958 
D. MIGA   4. 1966 
 A B C D 
a. 2 3 4 1 
b. 2 4 1 3 
c. 1 2 3 4 
d. 1 2 4 3 

 
65. Choose correct pairs 

i. World Polio Day and UN Day is observed on – October 24 
ii. World Food Day – October 16 
iii. World Student Day – October 15 
iv. International Poverty Eradication day – October 18 
a. i, ii    b. i, ii, iii    c. ii, iii 
d. All of these  e. Answer not known 
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rhpahd ,iziaf; fhz;f 
i. cyf NghypNah jpdk; kw;Wk; I.eh jpdk; mDrhpf;fg;gLk; ehs; - 

mf;Nlhgh; 24 
ii. cyf czT jpdk; - mf;Nlhgh; 16 
iii. cyf khzth; jpdk; - mf;Nlhgh; 15 
iv. rh;tNjr tWik xopg;G jpdk; - mf;Nlhgh; 18 
a. i, ii    b. i, ii, iii    c. ii, iii 
d. ,it midj;Jk; e. tpil njhpatpy;iy 

 
66. The WTO was established the Trade Related Intellectual Property Rights 

(TRIPs) agreement in ____. 
a. 1995  b. 1997    c. 1998   
d. 1999  e. Answer not known 
cyf tu;j;jf mikg;G tzpfk; njhlu;ghd mwpTrhu; nrhj;Jupik 
xg;ge;jj;ij (TRIPS) Vw;gLj;jpa Mz;L ____. 
a. 1995  b. 1997    c. 1998  
d. 1999  e. tpil njhpatpy;iy 

 
67. Match the following 

Institution Year of Establishment 
A. SAARC  1. 1985 
B. ASEAN  2. 1967 
C. BRICS  3. 2001 
 A B C 
a. 1 2 3 
b. 2 1 3 
c. 3 2 1 
d. 3 1 2 
e. Answer not known 
nghUj;Jf. 
epWtdk;  epWtg;gl;l Mz;L 
A. SAARC  1. 1985 
B. ASEAN  2. 1967 
C. BRICS  3. 2001 
 A B C 
a. 1 2 3 
b. 2 1 3 
c. 3 2 1 
d. 3 1 2 
e. tpil njhpatpy;iy 
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68. Which of the following country is not the member of ASEAN? 
a. India  b. Thailand   c. Malaysia   
d. Singapore e. Answer not known 
ASEAN mikg;gpd;  cWg;gpdu; my;yhj ehL vJ? 
a. ,e;jpa   b. jha;yhe;J   c. kNyrpah   
d. rpq;fg;G+u;  e. tpil njhpatpy;iy 

 
69. Which is known as a sister institution along with International Monetary 

Fund? 
a. International Development Association 
b. World Trade Organization 
c. International Finance Corporation 
d. International Bank for Reconstruction and Development 
e. Answer not known 
gd;dhl;L gz epjpaj;jpd; rNfhju mikg;ghff; fUjg;gLtJ? 
a. gd;dhl;L Nkk;ghl;L mikg;G 
b. cyf tu;j;jf mikg;G 
c. gd;dhl;L epjpf;fofk; 
d. kWfl;likg;G kw;Wk; Nkk;ghl;Lf;fhd gd;dhl;L tq;fp 
e. tpil njhpatpy;iy 

 
70. Justice Gorla Rohini Commission is related to _______ 

a. Sub-Categorisation of OBC b. Sub-Categorisation of SC 
c. Sub Categorisation of ST  d. None of these 
e. Answer not known 
ePjpaurp Nfhh;yh Nuh`pdp FO vjDld; njhlh;GilaJ? 
a. gpw gpw;gLj;jg;gl;l tFg;gpdhpd; Jizg;gphpT 
b. gl;bay; ,dj;jthpd; Jizg;gphpT 
c. goq;Fbapdhpd; Jizg;gphpT 
d. ,it VJkpy;iy 
e. tpil njhpatpy;iy 
 

71. What is an economic union? 
a. A group formed by countries within a geographical area to promote 

duty free trade  
b. Free trade area with common external tariff  
c. A trade bloc whose member countries have signed a free – trade 

agreement. 
d. A common market with a customs union. 
e. Answer not known 
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Rq;ftup xd;wpak; vd;gJ? 
a. Gtpapd; xU Fwpg;gpl;l gFjpapy; mike;Js;s ehLfspd; jilaw;w 

thzpgj;jpw;fhd mikg;G. 
b. nghJ tuptpjpg;Gld; $ba thzpgj; jilaw;w gFjp 
c. xg;ge;jj;jpy; ifnahg;gkpl;l cWg;G ehLfSf;F ,ilNaahd jilaw;w 

thzpgk; 
d. nghJr;re;ijiaAk; Rq;ftup xd;wpaj;ijAk; xd;wpizj;J 

cUthf;fg;gLk; mikg;G. 
e. tpil njhpatpy;iy 
 

72. Consider the following statements 
I. The New Development Bank was established by BRICS states in 2014 
II. India hosted Fourth and Eighth BRICS summits in 2012 and 2016 

respectively 
III. The first BRICS summit was held in Russia 
a. I, II are correct  b. All are correct  c. I is correct 
d. I, III are correct  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f 
I. gphpf;]; ehLfshy; 2014,y; Gjpa tsh;r;rp tq;fp Jtq;fg;gl;lJ 
II. ,e;jpah ehd;fhtJ kw;Wk; vl;lhtJ gphpf;]; cr;rpkhehl;il KiwNa 

2012 kw;Wk; 2016,y; elj;jpaJ 
III. Kjy; gphpf;]; khehL u~;ahtpy; eilngw;wJ 
a. I, II rhp    b. midj;Jk; rhp   c. I rhp 
d. I, III rhp    e. tpil njhpatpy;iy 
 

73. Theme of International Girl Child Day 2023 is 
a. Digital Generation, our generation 
b. Our Time is now – our rights, our future 
c. My voice, our equal future 
d. Invest in girls rights: Our leadership, Our Well-being 
e. Answer not known 
rh;tNjr ngz; Foe;ijfs; jpdk; 2023 -,d; ikaf;fU 
a. b[pl;ly; n[dNurd;> mth; n[dNurd; 
b. mth; ilk; ,]; nes – mth; iul;];> mth; /g;a+r;rh; 
c. ik tha;];> mth; <f;ty; /g;a+r;rh; 
d. ,d;nt];l; ,d; Nfh;y;]; iul;];: mth; yPlh;rpg;> mth; nty;-gPapq; 
e. tpil njhpatpy;iy 
 

74. He who does not enjoy the immense riches he has heaped up in his house, 
is __________ 
a. baseness  b. Wealth without benefaction  c. Familiarity 
d. The dread of Mendicancy e. Answer not known 
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<l;ba nghUis ahtu;f;Fk; gad;glhky; G+l;bitj;Jg; ghJfhg;gJ ______ 
vd;W miof;fg;gLfpwJ. 
a. faik   b. ed;wpapy;nry;tk;    c. gioik  
d. ,utr;rk;  e. tpil njhpatpy;iy 

 
75. How many dots lie opposite 2 dots?  

 
a. 1   b. 5  c. 6   d. 3   e. Answer not known 
,uz;L Gs;spfs; cs;s Kfj;jpw;F vjpNu cs;s Kfj;jpy; vj;jid 
Gs;spfs; cs;sd?  

 
a. 1   b. 5  c. 6   d. 3   e. tpil njhpatpy;iy  

 
 

 

 


